

$\frac{d}{dx} \ln|x| = \frac{1}{x}$   
 $\frac{d}{dx} \ln|x-1| = \frac{1}{x-1}$   
 $\frac{d}{dx} \ln|x+1| = \frac{1}{x+1}$   
 $\frac{d}{dx} \ln|x^2+1| = \frac{2x}{x^2+1}$   
 $\frac{d}{dx} \ln|x^2-1| = \frac{2x}{x^2-1}$   
 $\frac{d}{dx} \ln|x^2+x+1| = \frac{2x+1}{x^2+x+1}$   
 $\frac{d}{dx} \ln|x^2-x+1| = \frac{2x-1}{x^2-x+1}$   
 $\frac{d}{dx} \ln|x^2+2x+1| = \frac{2x+2}{x^2+2x+1}$   
 $\frac{d}{dx} \ln|x^2-2x+1| = \frac{2x-2}{x^2-2x+1}$   
 $\frac{d}{dx} \ln|x^2+1| = \frac{2x}{x^2+1}$   
 $\frac{d}{dx} \ln|x^2-1| = \frac{2x}{x^2-1}$   
 $\frac{d}{dx} \ln|x^2+x+1| = \frac{2x+1}{x^2+x+1}$   
 $\frac{d}{dx} \ln|x^2-x+1| = \frac{2x-1}{x^2-x+1}$   
 $\frac{d}{dx} \ln|x^2+2x+1| = \frac{2x+2}{x^2+2x+1}$   
 $\frac{d}{dx} \ln|x^2-2x+1| = \frac{2x-2}{x^2-2x+1}$

**Integration**  
 $\int \frac{1}{x} dx = \ln|x| + C$   
 $\int \frac{1}{x-a} dx = \ln|x-a| + C$   
 $\int \frac{1}{x^2} dx = -\frac{1}{x} + C$   
 $\int \frac{1}{x^3} dx = -\frac{1}{2x^2} + C$   
 $\int \frac{1}{x^4} dx = -\frac{1}{3x^3} + C$   
 $\int \frac{1}{x^5} dx = -\frac{1}{4x^4} + C$   
 $\int \frac{1}{x^6} dx = -\frac{1}{5x^5} + C$   
 $\int \frac{1}{x^7} dx = -\frac{1}{6x^6} + C$   
 $\int \frac{1}{x^8} dx = -\frac{1}{7x^7} + C$   
 $\int \frac{1}{x^9} dx = -\frac{1}{8x^8} + C$   
 $\int \frac{1}{x^{10}} dx = -\frac{1}{9x^9} + C$   
 $\int \frac{1}{x^{11}} dx = -\frac{1}{10x^{10}} + C$   
 $\int \frac{1}{x^{12}} dx = -\frac{1}{11x^{11}} + C$   
 $\int \frac{1}{x^{13}} dx = -\frac{1}{12x^{12}} + C$   
 $\int \frac{1}{x^{14}} dx = -\frac{1}{13x^{13}} + C$   
 $\int \frac{1}{x^{15}} dx = -\frac{1}{14x^{14}} + C$   
 $\int \frac{1}{x^{16}} dx = -\frac{1}{15x^{15}} + C$   
 $\int \frac{1}{x^{17}} dx = -\frac{1}{16x^{16}} + C$   
 $\int \frac{1}{x^{18}} dx = -\frac{1}{17x^{17}} + C$   
 $\int \frac{1}{x^{19}} dx = -\frac{1}{18x^{18}} + C$   
 $\int \frac{1}{x^{20}} dx = -\frac{1}{19x^{19}} + C$

**Trigonometric Integrals**  
 $\int \sin x dx = -\cos x + C$   
 $\int \cos x dx = \sin x + C$   
 $\int \tan x dx = -\ln|\cos x| + C$   
 $\int \cot x dx = \ln|\sin x| + C$   
 $\int \sec x dx = \ln|\sec x + \tan x| + C$   
 $\int \csc x dx = \ln|\csc x - \cot x| + C$   
 $\int \sin^2 x dx = \frac{x}{2} - \frac{\sin 2x}{4} + C$   
 $\int \cos^2 x dx = \frac{x}{2} + \frac{\sin 2x}{4} + C$   
 $\int \sin^3 x dx = -\cos x + \frac{1}{3}\cos^3 x + C$   
 $\int \cos^3 x dx = \sin x - \frac{1}{3}\sin^3 x + C$   
 $\int \sin^4 x dx = \frac{3x}{8} - \frac{\sin 2x}{4} + \frac{\sin 4x}{32} + C$   
 $\int \cos^4 x dx = \frac{3x}{8} + \frac{\sin 2x}{4} - \frac{\sin 4x}{32} + C$   
 $\int \sin^5 x dx = -\cos x + \frac{2}{3}\cos^3 x - \frac{1}{5}\cos^5 x + C$   
 $\int \cos^5 x dx = \sin x - \frac{2}{3}\sin^3 x + \frac{1}{5}\sin^5 x + C$   
 $\int \sin^6 x dx = \frac{5x}{16} - \frac{15\sin 2x}{64} + \frac{15\sin 4x}{2048} - \frac{5\sin 6x}{65536} + C$   
 $\int \cos^6 x dx = \frac{5x}{16} + \frac{15\sin 2x}{64} - \frac{15\sin 4x}{2048} + \frac{5\sin 6x}{65536} + C$

**Integration by Substitution**  
 $\int f(g(x))g'(x) dx = \int f(u) du$   
 $\int \frac{1}{\sqrt{a^2-x^2}} dx = \arcsin \frac{x}{a} + C$   
 $\int \frac{1}{\sqrt{x^2+a^2}} dx = \ln|\frac{x}{a} + \sqrt{\frac{x^2}{a^2} + 1}| + C$   
 $\int \frac{1}{\sqrt{x^2-a^2}} dx = \ln|\frac{x}{a} + \sqrt{\frac{x^2}{a^2} - 1}| + C$   
 $\int \frac{1}{x^2+a^2} dx = \frac{1}{a} \arctan \frac{x}{a} + C$   
 $\int \frac{1}{x^2-a^2} dx = \frac{1}{2a} \ln|\frac{x-a}{x+a}| + C$   
 $\int \frac{1}{x^2+1} dx = \arctan x + C$   
 $\int \frac{1}{x^2-1} dx = \frac{1}{2} \ln|\frac{x-1}{x+1}| + C$   
 $\int \frac{1}{x^2+4} dx = \frac{1}{2} \arctan \frac{x}{2} + C$   
 $\int \frac{1}{x^2-4} dx = \frac{1}{4} \ln|\frac{x-2}{x+2}| + C$   
 $\int \frac{1}{x^2+9} dx = \frac{1}{3} \arctan \frac{x}{3} + C$   
 $\int \frac{1}{x^2-9} dx = \frac{1}{6} \ln|\frac{x-3}{x+3}| + C$   
 $\int \frac{1}{x^2+16} dx = \frac{1}{4} \arctan \frac{x}{4} + C$   
 $\int \frac{1}{x^2-16} dx = \frac{1}{8} \ln|\frac{x-4}{x+4}| + C$

**Integration by Parts**  
 $\int u dv = uv - \int v du$   
 $\int x \sin x dx = -x \cos x + \sin x + C$   
 $\int x \cos x dx = x \sin x + \cos x + C$   
 $\int x^2 \sin x dx = -x^2 \cos x + 2x \sin x - 2 \cos x + C$   
 $\int x^2 \cos x dx = x^2 \sin x - 2x \cos x + 2 \sin x + C$   
 $\int x^3 \sin x dx = -x^3 \cos x + 3x^2 \sin x - 6x \cos x + 6 \sin x + C$   
 $\int x^3 \cos x dx = x^3 \sin x - 3x^2 \cos x + 6x \sin x - 6 \cos x + C$   
 $\int x^4 \sin x dx = -x^4 \cos x + 4x^3 \sin x - 12x^2 \cos x + 24x \sin x - 24 \cos x + C$   
 $\int x^4 \cos x dx = x^4 \sin x - 4x^3 \cos x + 12x^2 \sin x - 24x \cos x + 24 \sin x + C$   
 $\int x^5 \sin x dx = -x^5 \cos x + 5x^4 \sin x - 20x^3 \cos x + 60x^2 \sin x - 120x \cos x + 120 \sin x + C$   
 $\int x^5 \cos x dx = x^5 \sin x - 5x^4 \cos x + 20x^3 \sin x - 60x^2 \cos x + 120x \sin x - 120 \cos x + C$

**Integration by Partial Fractions**  
 $\int \frac{1}{x^2-1} dx = \frac{1}{2} \ln|\frac{x-1}{x+1}| + C$   
 $\int \frac{1}{x^2+1} dx = \arctan x + C$   
 $\int \frac{1}{x^2-4} dx = \frac{1}{4} \ln|\frac{x-2}{x+2}| + C$   
 $\int \frac{1}{x^2+4} dx = \frac{1}{4} \arctan \frac{x}{2} + C$   
 $\int \frac{1}{x^2-9} dx = \frac{1}{6} \ln|\frac{x-3}{x+3}| + C$   
 $\int \frac{1}{x^2+9} dx = \frac{1}{3} \arctan \frac{x}{3} + C$   
 $\int \frac{1}{x^2-16} dx = \frac{1}{8} \ln|\frac{x-4}{x+4}| + C$   
 $\int \frac{1}{x^2+16} dx = \frac{1}{4} \arctan \frac{x}{4} + C$   
 $\int \frac{1}{x^2-25} dx = \frac{1}{10} \ln|\frac{x-5}{x+5}| + C$   
 $\int \frac{1}{x^2+25} dx = \frac{1}{5} \arctan \frac{x}{5} + C$   
 $\int \frac{1}{x^2-36} dx = \frac{1}{12} \ln|\frac{x-6}{x+6}| + C$   
 $\int \frac{1}{x^2+36} dx = \frac{1}{6} \arctan \frac{x}{6} + C$

**Integration by Trigonometric Substitution**  
 $\int \sqrt{a^2-x^2} dx = \frac{x}{2} \sqrt{a^2-x^2} + \frac{a^2}{2} \arcsin \frac{x}{a} + C$   
 $\int \sqrt{x^2+a^2} dx = \frac{x}{2} \sqrt{x^2+a^2} + \frac{a^2}{2} \ln|x + \sqrt{x^2+a^2}| + C$   
 $\int \sqrt{x^2-a^2} dx = \frac{x}{2} \sqrt{x^2-a^2} - \frac{a^2}{2} \ln|x + \sqrt{x^2-a^2}| + C$   
 $\int \frac{1}{\sqrt{a^2-x^2}} dx = \arcsin \frac{x}{a} + C$   
 $\int \frac{1}{\sqrt{x^2+a^2}} dx = \ln|x + \sqrt{x^2+a^2}| + C$   
 $\int \frac{1}{\sqrt{x^2-a^2}} dx = \ln|x + \sqrt{x^2-a^2}| + C$   
 $\int \frac{1}{x^2+a^2} dx = \frac{1}{a} \arctan \frac{x}{a} + C$   
 $\int \frac{1}{x^2-a^2} dx = \frac{1}{2a} \ln|\frac{x-a}{x+a}| + C$   
 $\int \frac{1}{x^2+1} dx = \arctan x + C$   
 $\int \frac{1}{x^2-1} dx = \frac{1}{2} \ln|\frac{x-1}{x+1}| + C$   
 $\int \frac{1}{x^2+4} dx = \frac{1}{2} \arctan \frac{x}{2} + C$   
 $\int \frac{1}{x^2-4} dx = \frac{1}{4} \ln|\frac{x-2}{x+2}| + C$   
 $\int \frac{1}{x^2+9} dx = \frac{1}{3} \arctan \frac{x}{3} + C$   
 $\int \frac{1}{x^2-9} dx = \frac{1}{6} \ln|\frac{x-3}{x+3}| + C$   
 $\int \frac{1}{x^2+16} dx = \frac{1}{4} \arctan \frac{x}{4} + C$   
 $\int \frac{1}{x^2-16} dx = \frac{1}{8} \ln|\frac{x-4}{x+4}| + C$

**Integration by Rationalization**  
 $\int \frac{1}{\sqrt{x^2+1}} dx = \ln|x + \sqrt{x^2+1}| + C$   
 $\int \frac{1}{\sqrt{x^2-1}} dx = \ln|x + \sqrt{x^2-1}| + C$   
 $\int \frac{1}{\sqrt{x^2+4}} dx = \ln|x + \sqrt{x^2+4}| + C$   
 $\int \frac{1}{\sqrt{x^2-4}} dx = \ln|x + \sqrt{x^2-4}| + C$   
 $\int \frac{1}{\sqrt{x^2+9}} dx = \ln|x + \sqrt{x^2+9}| + C$   
 $\int \frac{1}{\sqrt{x^2-9}} dx = \ln|x + \sqrt{x^2-9}| + C$   
 $\int \frac{1}{\sqrt{x^2+16}} dx = \ln|x + \sqrt{x^2+16}| + C$   
 $\int \frac{1}{\sqrt{x^2-16}} dx = \ln|x + \sqrt{x^2-16}| + C$   
 $\int \frac{1}{\sqrt{x^2+25}} dx = \ln|x + \sqrt{x^2+25}| + C$   
 $\int \frac{1}{\sqrt{x^2-25}} dx = \ln|x + \sqrt{x^2-25}| + C$   
 $\int \frac{1}{\sqrt{x^2+36}} dx = \ln|x + \sqrt{x^2+36}| + C$   
 $\int \frac{1}{\sqrt{x^2-36}} dx = \ln|x + \sqrt{x^2-36}| + C$

**Integration by Hyperbolic Substitution**  
 $\int \frac{1}{\sqrt{x^2-1}} dx = \operatorname{arcsinh} x + C$   
 $\int \frac{1}{\sqrt{x^2+1}} dx = \operatorname{arcsinh} \sqrt{x^2+1} + C$   
 $\int \frac{1}{\sqrt{x^2-4}} dx = \operatorname{arcsinh} \frac{x-2}{2} + C$   
 $\int \frac{1}{\sqrt{x^2+4}} dx = \operatorname{arcsinh} \frac{x}{2} + C$   
 $\int \frac{1}{\sqrt{x^2-9}} dx = \operatorname{arcsinh} \frac{x-3}{3} + C$   
 $\int \frac{1}{\sqrt{x^2+9}} dx = \operatorname{arcsinh} \frac{x}{3} + C$   
 $\int \frac{1}{\sqrt{x^2-16}} dx = \operatorname{arcsinh} \frac{x-4}{4} + C$   
 $\int \frac{1}{\sqrt{x^2+16}} dx = \operatorname{arcsinh} \frac{x}{4} + C$   
 $\int \frac{1}{\sqrt{x^2-25}} dx = \operatorname{arcsinh} \frac{x-5}{5} + C$   
 $\int \frac{1}{\sqrt{x^2+25}} dx = \operatorname{arcsinh} \frac{x}{5} + C$   
 $\int \frac{1}{\sqrt{x^2-36}} dx = \operatorname{arcsinh} \frac{x-6}{6} + C$   
 $\int \frac{1}{\sqrt{x^2+36}} dx = \operatorname{arcsinh} \frac{x}{6} + C$

**Integration by Algebraic Substitution**  
 $\int \frac{1}{\sqrt{x^2+1}} dx = \ln|x + \sqrt{x^2+1}| + C$   
 $\int \frac{1}{\sqrt{x^2-1}} dx = \ln|x + \sqrt{x^2-1}| + C$   
 $\int \frac{1}{\sqrt{x^2+4}} dx = \ln|x + \sqrt{x^2+4}| + C$   
 $\int \frac{1}{\sqrt{x^2-4}} dx = \ln|x + \sqrt{x^2-4}| + C$   
 $\int \frac{1}{\sqrt{x^2+9}} dx = \ln|x + \sqrt{x^2+9}| + C$   
 $\int \frac{1}{\sqrt{x^2-9}} dx = \ln|x + \sqrt{x^2-9}| + C$   
 $\int \frac{1}{\sqrt{x^2+16}} dx = \ln|x + \sqrt{x^2+16}| + C$   
 $\int \frac{1}{\sqrt{x^2-16}} dx = \ln|x + \sqrt{x^2-16}| + C$   
 $\int \frac{1}{\sqrt{x^2+25}} dx = \ln|x + \sqrt{x^2+25}| + C$   
 $\int \frac{1}{\sqrt{x^2-25}} dx = \ln|x + \sqrt{x^2-25}| + C$   
 $\int \frac{1}{\sqrt{x^2+36}} dx = \ln|x + \sqrt{x^2+36}| + C$   
 $\int \frac{1}{\sqrt{x^2-36}} dx = \ln|x + \sqrt{x^2-36}| + C$

**Integration by Logarithmic Substitution**  
 $\int \frac{1}{x \sqrt{x^2+1}} dx = \operatorname{arcsinh} x + C$   
 $\int \frac{1}{x \sqrt{x^2-1}} dx = \operatorname{arcsinh} \sqrt{x^2-1} + C$   
 $\int \frac{1}{x \sqrt{x^2+4}} dx = \operatorname{arcsinh} \frac{x-2}{2} + C$   
 $\int \frac{1}{x \sqrt{x^2+4}} dx = \operatorname{arcsinh} \frac{x}{2} + C$   
 $\int \frac{1}{x \sqrt{x^2-9}} dx = \operatorname{arcsinh} \frac{x-3}{3} + C$   
 $\int \frac{1}{x \sqrt{x^2+9}} dx = \operatorname{arcsinh} \frac{x}{3} + C$   
 $\int \frac{1}{x \sqrt{x^2-16}} dx = \operatorname{arcsinh} \frac{x-4}{4} + C$   
 $\int \frac{1}{x \sqrt{x^2+16}} dx = \operatorname{arcsinh} \frac{x}{4} + C$   
 $\int \frac{1}{x \sqrt{x^2-25}} dx = \operatorname{arcsinh} \frac{x-5}{5} + C$   
 $\int \frac{1}{x \sqrt{x^2+25}} dx = \operatorname{arcsinh} \frac{x}{5} + C$   
 $\int \frac{1}{x \sqrt{x^2-36}} dx = \operatorname{arcsinh} \frac{x-6}{6} + C$   
 $\int \frac{1}{x \sqrt{x^2+36}} dx = \operatorname{arcsinh} \frac{x}{6} + C$

**Integration by Inverse Trigonometric Substitution**  
 $\int \frac{1}{\sqrt{a^2-x^2}} dx = \arcsin \frac{x}{a} + C$   
 $\int \frac{1}{\sqrt{x^2+a^2}} dx = \ln|x + \sqrt{x^2+a^2}| + C$   
 $\int \frac{1}{\sqrt{x^2-a^2}} dx = \ln|x + \sqrt{x^2-a^2}| + C$   
 $\int \frac{1}{x^2+a^2} dx = \frac{1}{a} \arctan \frac{x}{a} + C$   
 $\int \frac{1}{x^2-a^2} dx = \frac{1}{2a} \ln|\frac{x-a}{x+a}| + C$   
 $\int \frac{1}{x^2+1} dx = \arctan x + C$   
 $\int \frac{1}{x^2-1} dx = \frac{1}{2} \ln|\frac{x-1}{x+1}| + C$   
 $\int \frac{1}{x^2+4} dx = \frac{1}{2} \arctan \frac{x}{2} + C$   
 $\int \frac{1}{x^2-4} dx = \frac{1}{4} \ln|\frac{x-2}{x+2}| + C$   
 $\int \frac{1}{x^2+9} dx = \frac{1}{3} \arctan \frac{x}{3} + C$   
 $\int \frac{1}{x^2-9} dx = \frac{1}{6} \ln|\frac{x-3}{x+3}| + C$   
 $\int \frac{1}{x^2+16} dx = \frac{1}{4} \arctan \frac{x}{4} + C$   
 $\int \frac{1}{x^2-16} dx = \frac{1}{8} \ln|\frac{x-4}{x+4}| + C$